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2 What type of chemical reaction was taking place in each case?
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3. Which metal reacted with the most solutions i e. which metal lost electrons most easily?
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4. Could you have predicted from prior knowledge which metal was going to react with the
least number of solutions?

CVL Reason? C/UL ).;J) u/Q.Q,CQ {}—{ﬁ IpO_,L‘P.ﬂO

A ;
VK/C{V\ fd| PTQ)XQ W‘-— WMW : ) &A’O P\QQ
U ] ! U () 9’0’&6 9,@“

5. Rank the 4 metals in DECREASING order of reactivity: {/’\-"-J ' "Q?‘/
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6. What metal is the Statue of Liberty made with and why?
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Give dmswe knowledge of relative chemical activity, which one metal on your
east likely t¢ be found in an uncombined or “free” state in nature? Why?
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